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Q1

Q2

Q3

Q4

SECTION-1 | HINDI KNOWLEDGE & WRITING ABILITY | 60 QUESTIONS

Hga’ & B fAdm B
(A) faafaa

(B) B

(C) uRfEe=

(D) 3rmga

SiZO0LLl

L

fr=fefaa # & - &g 9 F1 wafgard T8 &7
(A) Mrar
(B) *rm
(C) ad
(D) 3

e & 9§ - 9= S &1 wigar) w8 87
(A) Mfa
®) *Rfer
(C) ¥4

(D) =4

Frefeifaa # & dF-—wr 1= ‘gua’ &1 gafgar) 78 87
(A) <&
(B) &1

(C) fgor
(D) wdor
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Q5

Q6

Q7

Q8

frfafed § @ F—ar v el & gaigarh T8 82
A) few
(B) @
(C) ush
(D) fazm

S1ZS0E0.

frafafeaa # § FF—1 g gA 1 vaRErE T8 27
(A) gfeam
(B) sifed

(C) T

(D) gar

feforfRaa § 9§ $—wr v ey o wafgar 82
(A) &l

(B) STYER

(C) ITHR

D) wfy

frifeiaa # & BF-a1 v g’ & gaigard T8l 87
(A) G«
(B) Gerd

(C) goiT

(D) 31
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Q9 frsifafRaa & & & W v gy F81 27
(A) 9
(B) WK
(C) ufdwr
(D) wfafaw

Q10 fy=ifefaa ¥ & 1 W vreg dga 87
(A) Sooid
(B) S=ard
(C) Frarw

(D) S &

Q11 f=ifafea ¥ ) o9 wr g oI 78l 87
(A) fpe
(B) afe
) B&

(D) FI@T

Q12 fr=fefEa # & @ W v owa &l 87
(A) B
(B) 3R
(C) 3if|

(D) @1
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Q13

Q14

Q15

Q16

Frefoafed 3 & o9 w1 v aom T8 82
(A) g

(B) o

(C) [y
(D) 9%

W@aﬁﬁﬁﬁwmwzlé{%?
(A) TIE
(B) TaH
(C) wmas

(D) SUEM

f=fafea 4 & oF a1 v ag9 T8 &7
(A) U
(B) d&d
(C) Sy

(D) ward

ffafaa § &4 @9 W e aom T 87
(A) S&
(B) @i
(C) SeFE
(D) BT

P-KS-1 6
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Q17 v ¥ fawror FxAaret urol &1 FHEr e 8-
(A) Framax
(B) TR
(C) awaR
D) fremaR

QI8 T @™ IrFY 7 B
(A) 3@y
(B) g

(C) 3Ty

11866215

(D) ey

Q19 o U™ W 9 8-
A) T8
B) faa
(C) afs
(D) 3fwa

Q20 T W PF—W U TR BT WAARI 7 §?
(A) P
®) 3
(C) 3wy
(D) W
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o o e A~ (A % 1

Q21 T ¥ BF-WT e HE' BT GAFRA TEl 87
(A) Fifere
B)

15

(C) 553
(D) =M

101462

Q22 R WiaarE® WeRil @ ofT ¥ ‘B BT &, DT ferT YT B
(A) gfeetT
(B) wiferT
(C) TYHBfeTT
(D) SwaferT

Q23 yfesiw wsm & WA YR AT HR 9 | ‘S fader @ F1 w9 Be?
(A) BT
(B) e
(C) &1l
(D) Bretl

Q24 ‘Hal’ & H ®iF 41 foi 87

(A) gfeerT
(B) wifei

©) Rt

(D) S9gfe
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Q25 w1 & fora wY & Wi &1 d &ar 8, 99d @ 91 R gr 27 Eﬁ@u

| (A) Yfesi 104|1<E
B) wfem
(C) TgwDfeAT
(D) Sfer

Q26 3IPRIT Wi &g &I agaa=1 991 & forq a7 fvar wmar 272
(A) 3 WX D 951 Al B A\ |
(B) 30 WX & WM 4 @ o &)
(C) 39 WX & g5l T N 24 &
(D) 34 WX D g5l I $X oA & |

Q27 B¢ & WHIG &1 9ga9T H 9T WY B 87
(A) Su&T wu uRafifa & wrar &)
(B) Swa w4 # &g uRads 78t siam &
(C) sgaad ¥ Sua fawey &1 warT fBar wiar &
(D) SUD 3 A T T oA ¥

Q28 &= # ' & agaus B
(A) &9
(B) &4 qFI
(C) & W™

(D) &9 @
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Q29 fr=fefas & § 19 |1 FUF AYE 87
(A) BB T& WA S HROT TgHT qgT A € I T |
(B) @fawarad BRI GfewT Wil BT w0 agda- d q&el S 8 |
(C) %B IR agaa v&t & warT R # yhaEs § g 2|
(D) g o1 agaa ¥ IRA T e &

Q30 =RU-&He dal BRNE |
W Pr-ufda § DU JADR 87

LBLL

(A) SuH

6801

(B) wUP
(C) woiy
(D) ScHET

Q31 dfem o fAg B e, 1 @l SR W | AR BRI BT R wT A g ERT |
T HrE-fdadl § P JAPR 287
(A) 3rFaTH
(B) T4
(C) T

(D) afereranfa

Q32 T | P U TH TRE TYy WA A Hafow 87
(A) 39 g4 g wu BT ¥ |
(B) ¥wd qd ug W@ Bl # |
(C) TEH W IR Ug W Bl B
(D) F% qd U< gy B & |
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Q33 o wrifes e A qd we o Ia ug iy 81 € 3R 1 dremr ue wae dar & 98 @

Q34

Q35

Q36

T WA BT 87
(A) wgsiife

(B) FHuURY

(C) gy

(D) Fagd

IO H P THNE 87
(A) gy

(B) agdife

(C) FHIRY

(D) Jrerira

Juifea &1 w8 wi-faws &
(A) T + Sfaa

B) 71 + B +

(C) 3o + ofag

(D) 3o + affed

fagandl’ @ v wh-famy 8-
(A) fagar + v
(B) fagam + apff
(C) faga + areft
(D) fagar + amif

P-KS-1 11
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Q37 wfae & e WAz 8-
(A) 71 + s
(B) =1+ A
©) N+ 3®
(D) 7 + JfA®

LS901

Q38 ‘wWIER H whl Wy &- 2
(A) @+ 3@ + &R
(B) &d + &R
(C) & + TER

(D) &+ T+ 8R

Q39 wuE H we WRh-fawe j-
(A) 9@ + 99
(B) =1 + QI
(C) & + @

(D) ¥ + 3@Y

Q40 ‘e =1 W Wy 8-
(A) wEa + ®M
(B) Wer + FM
(C) weH+ =M
(D) &Y +
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Q41

Q43

Q44

Tma’ &1 W WR-Rwg a-
(A) = + 94

B) e + @

©) g + =t

(D) B + smEa

g @1 ud dfR-fwe -
(A) 9 + &M

(B) WY + e

(C) 9 + &

(D) o + &

10611089

fFrafifea 4 9 g8 e &1 w97 Afv-
(A) ST 3R FAT qR T |

(B) B Feid qFI H daR & 7T |

(C) 39 T & UF & aflgsr 3 forar £
(D) T= 9 PET UG T TE |

fr=forfea 3 & g8 arag &1 999 -
(A) =T 9Tl SereeR O |

(B) TSI A {3 wWazar faw & qurd fRan)
(C) THAT HT Ut =T 3R ygfia B

(D) = @ fbdie Qerar 2|

P-KS-1 13
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Q45 frafafa # 9 g g &1 937 FIfie-
(A) ¥ Gaor @iear agd SfeT 2|
(B) Si% TS | Wl aedl B |
(C) & US Jifdiior o &
(D) N v F gl wWrrE 2|

Q46 fr=feifaa & & gg a1 &1 9aq Bifvg—
(A) Siffrw A & @ iR wS & F=i 8 W@ e
(B) TE W APl BR A8 B Y|
(C) I& IgH |aDd! I ST 2
(D) 4ra 3igRa & arel 2|

Q47 Fr=ifafeaa # & Y& T/ &1 937 BIg-
(A) 91 TSI B 4T
(B) a1 TRM TR &S FA B |
(C) 9@ | Ugal WA B Bl
(D) U RN, Whas 9|

Q48 fr=fafea # 9 gg g &1 997 -
(A) 7% @ R ¥ R e SHET WAl 981 g R |
(B) a1 o %@ |
(C) Yo' & &a1 W@y & forg areer B 1

(D) SBF 9% $R & U W @l WA |
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Q49 ‘3 fiaR Y& W HETAR FT WEl I 8-
(A) I g8 7 31
(B) 31 & 3ard ¥ 3 & @ e
(C) [T BT
(D) 9= W FE oI |

1089

57

Q50 ‘3ifel 3 93 WA HAHIfdT BT IuYyeRT el B
(A) HFHe A H BT

1

' B) fawda uRRafy # Suyed w9a 3mF &1 FaoR AT
(C) faufea & cv= &1 draen v@=
(D) el & q€ G GEA BT SN DRAT

Q51 ‘frama @1 Frer BT @1 Suya e -
(A) TE TR] BT T B dATell
(B) 3gugel W& Y& gl
(C) agd & ugA arer
(D) S &I §EH

Q52 ‘e fagr @ieAT &1 SugE IR 8-
(A) ORI #g @ &1
(B) &= ®HH I UTdHT HRAT
(C) ¥ four

(D) ®F &1 Feam T
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D
@
=}
(3]
b 3

Q53

Q54

Q55

Q56

i €T &1 Suga et -
(A) 9RT 3R &= 8T

(B) fadt AR &1 7 &

(C) 1 TR® &= &1

(D) P HR @

¥ Y WY eBR A A F1 Suga ek 2
(A) TH—gE A 991

(B) 33 HdHed BT

(C) Y= B WaR A ST

(D) Ffwr % g

'HIE "re &1 url §FT dieifda & Sugad el 2
(A) 3@ &1 BT AP

(B) witgd # Rerar &1 3@

(C) & T WEHAT

(D) RusR & fag 7@ 8t g

Tt we @ fadm 8-
(A) 3

®) wfgd

(C) Wl

(D) Ige

P-KS-1 16
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Q57

Q58

Q59

Q60

e @ fAdm 8-
(A) @A
(B) wuH
(C) fawm

(D) waH

e e o fadm 8-
(A) 3D
(B) Ircild
(€) fae®
(D) WS

W T 31 fadm 8-
(&) Ruga
B) wga
(©€) ured

(D) wme

T T B Rdm &
(A) ImaoD

(B) WS

(C) =ian

(D) @A

P-KS-1
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Q61

Q62

SECTION-2 | GENERALAPTITUDE TEST | 30 QUESTIONS

Five colours have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Green, Indigo, Pink, Orange, Yellow

(A) Orange

(B) Pink

(C) Green

(D) Yellow

Five subjects have been given, out of which
four are alike in some manner and one is
different.

Select the odd one

Physics, Chemistry, Geography, Botany,
Zoology

(A) Botany

(B) Chemistry

(C) Physics

(D) Geography

P-KS-1

L1605Z11
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Q61

Q62

utg 37 Ry 1 €, et @ 9w el ove
A TF O & 3R 1@ AT B

=1 3 @1 gaE WY

&, A, o), A, dran

(A) =i

(B) Tl

(©) &

(D) e

dre Rwva Ry v & R & ar A
e ¥ wiE ¥ AR @ AT R

A FH T PN

ofte REm

(A) Trwfa s
(B) oA fasm
(C) s fasm

(D) e
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Q63

Q64

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Canoe, Dinghy, Igloo, Raft, Yacht

(A) Raft

(B) Igloo

(C) Canoe

(D) Dinghy

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cliffs, Lapies, Stalactites, Sinkholes,
Stalagmites

(A) Stalactites

(B) Stalagmites

(C) Lapies

(D) Cliffs

P-KS-1

216041041

19

Q63

Q64

tfa v Ry v # Rrel @ ar 5
e ¥ UF oI € ok wa A= R
=1 wreg @1 TaE |

(A) Fe1

®) g

(C) =

(D) rf

ufa e Ry v & i @ ar faed
V8 W Us O 8 3R U@ o &)
AT T 9IT PN

frerdt fem

(A) 3mE! fAEy (eddeme)

(B) fFed fPag

(C) o

(D) @t gg™
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Q65

Q66

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Semicircle, Semicolon, Semifinal,
Seminar,

Semitone

(A) Semitone

(B) Semicircle

(C) Seminar

(D) Semicolon

A travel agent surveyed 100 people to find
out how many of them had visited the cities
of Mumbai and Bangalore. 31 people had
visited Mumbai, 26 people had visited
Bangalore, and 12 poeple had visited both
cities. Find the number of people who had
visited neither Mumbai nor Bangalore.
(A) 12

(B) 55

©) 19

(D) 45

P-KS-1
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Q65

Q66

df s Ry v E Rl @ 9w i
a8 ¥ U@ 9 £ 3R @ e )
A BT TTT B

(F), e

(A) RS

(B) g

(C) ¥R ()

(D) iR

et $ae Tole X 100 AR T WO
frar wifd a8 uar o1 9@ & o @
fa Hagd alk drge wew v A 31
@1 HaE Y ¥, 26 AT FIge T & 3R
12 &7 Q1 weRl A MY & | IF Sl B
WA T AN, O A o qag v A &
dIge MY A

(A) 12

(B) 55

(€) 19

(D) 45
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Q67 A surveyof 500 TV viewers produced the
following information.
285 viewers watch football games, 195
viewers watch hockey games, 115
viewers watch basketball game, 45
viewers watch football and basketball
games, 70 viewers watch football and
hockey games, 50 viewers watch hockey
and basketball games, and 50 viewers do
not watch any of three games. How many
viewers watch exactly one of the three
games?
(A) 440
(B) 365
(C) 205
(D) 325

Q68 Inanairline, hot drinks and iced tea were
served to 120 passengers. 75 passengers

- enjoyed hot drinks and 62 enjoyed iced

tea. If 40 enjoyed both, then how many
passengers enjoyed none of the
beverages?
(A) 15
(B) 12
(C) 23
(D) 25

P-KS-1

10930817
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Q67

Q68

adt @ T 500 <EHf @ A9 g
weor # Preffee ST W g8 )
285 <¥fe gedfa Qe 2w €, 195 odfa
Bio) W ewd §, 115 39a aRdedia
e ¥ & 45 T wedial iR Il
Ud @ €, 70 T¥d gedta v g
W 2@ §, 50, 39 Bl AR aRdedial
qd @ @, Y 50 < o I |
o W 78w &) o <ofe A=
wdt # | 5 e @a B o @ @
&

(A) 440

(B) 365

(C) 205

(D) 325

U@ UARATEA H, 120 A o efe g
3R 3w & R M| 75 WA A g
fyaa &1 iz forar ok 62 7 amgw &
&1 e forar) af 40 A 2T F1 AR
forar, o frat a3l = a0 went & @
Rt 7 0t arrie TE R

(A) 15

(B) 12

(C) 23

(D) 25
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Q69

Q70

P-KS-1

Select the option that is related to the third
word in the same manner as the second
word is related to the first word:
STATUE: SIZE :: SONG : ?

(A) POETRY

(B) WORDS

©) SINGEk

(D) TUNE

A survey of 100 candidates with respect
to their choice of ice cream flavours -
vanilla, chocolate and strawberry-
produced the following information.

50 candidates like vanilla, 43 like
chocolate, 28 like strawberry, 13 like
vanilla and chocolate, 11 like chocolate
and strawberry, 12 like strawberry and
vanilla, and 5 like all the three flavours.
How many candidates like chocolate and
strawberry but not vanilla?

(A) 24

(B) 10

(C) 32

(D) 6

22

Q69

Q70

11210017

9¥ fawcy &1 999 N O e e |
S yhR et & fore vaR g ue
UEd Y W el ® |

uferr @ JBR = T ?

(A) &

(B) o1

(C) TaH

D) g7

100 3=afRfat & wderor & amgESH
Toav—afiel, dideie 3l Wil @ see
wHE @ Way ¥ Frefefea are g
B |

50 anafidi < after vag 9, 43 7 Ao
T A, 28 4 @R wHe @, 13 I,
afve 3R dfecie @1 ghe faam, 113
didcie AR LS wHg A, 129
AR e @ vHg far ek 59 @
Al vty gvie g | O fsae arvaed €
el diede R RS o we @

it afer a1 e =@ far?
(A) 24
®) 10
©) 2
D) 6
SERIES-AF



Q71 Inacertain language, WOMEN is written
as OWMNE. How will NOTES be written
as in that code language?

(A) TONES
(B) SETNO
(C) ONTSE
(D) ONETS

Q72 In a certain code language, SKEW is
written as POCY. Which word will be
written as JYQV as in that code language?
(A) JUST
(B) MUST
(C) LUST
(D) HUSK

Q73 Inacertain code language, MOBILITY is
coded as 46293927. How will
EXAMINATION be coded as in that code
language?

(A) 27159415955
(B) 67038401834
(C) 56149512965
(D) 12250623034

P-KS-1

11200817
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Q71

Q72

Q73

e Pf¥=a s 3 WOMEN &
OWMNE @& w9 # forar mar 8| <@

,®YS W1 § NOTES & fber ware foran

@
(A) TONES
(B) SETNO
(C) ONTSE
(D) ONETS

fed ARga @re W #, SKEW &I
POCY & wY ¥ foran mar 2| S0 @18
AT # JYQV @ IHY D1 I
forar wga?

(A) JUST

(B) MUST

(C) LUST

(D) HUSK

faeit ffaa are s # MOBILITY &1
46293927 & w9 ¥ qewfia fHar
2| SH Fts W B AW
EXAMINATION &1 &% gewifta fear
STQ?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034
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Q74

Q75

Q76

In a certain code language, GRASP is
written as INOPQ and BROWN is written
as RNSTU. How will SPARROW be
written as in that code language?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

In a certain code language, ‘1 2 3° means
‘hot filtered coffee’, ‘3 5 6" means ‘very
hotday’ and ‘5 8 9' means ‘day and night’.
How will ‘very’ be coded as in that code
language?

(A) 6

®) 7

© 1

(D) 2

Select the word that can be formed using
the letters of the given word only as many
times as the letters have been used in the
word.

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON

P-KS-1
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Q74

Q75

Q76

f&dl A9 a1s w91 % GRASP #
INOPQ 3k BROWN %I RNSTU @ w1
# forar 741 8 | SPARROW &1 3+t 18
A ¥ 5w wor forar semm?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

fooelt e Ge wmwr 4, <123 Franf i
gie foees @i, 356" @1 aef & 49
glc ¥ 3R 589 @ranef 2 R v
TEe' | S BIS W A T B DY
ifea faar wmgam?

(A) 6

(B) 7

©) 1

(D) 2

I IE T g W, O R Ry g
TR B &R BT IGANT I AR IS
T 91 Wehen 87 Rl 9 39 e H
JERT T SYLNT g |

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON
SERIES-AF



Q77 Ifthe word NUPKIPM is unscrambled, Q77 afé NUPKIPM ¥1& &1 YAHIT 7T &,

then the name of a fruit/vegetable is at fel wer /el &t A qear &) s9
formed. What is the last letter of the word TR 1 IR e T 82

so formed? (A) K

(A) K (B) U

(B) U C) N

(C) N (D) M

(D) M

Q78 Each of the letters below has been Q78 R Ry 7Y 4w 3R B g va srgfid

assigned a unique number. Select the weT e @ 1 2 | Heml @ wao
combination of numbers such that the PTIIT  TPR R & gy auit o
corresponding letters when arranged 2 Aty faar s, o TETAR U ARl
accordingly will form a meaningful word. é e 97 g |

CELSMU CELSMU

3456738 | 34567 8

(A) 7,4,5,3,8,6 (A) 7.4,5,3,8,6

(B) 6,8,7,4,5,3 (B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3 (€) 6,8,5,7,4,3

(D) 7,8,6,3,5,4 (D) 7,8,6,3,5,4

Q79 Form a meaningful word with the first, Q79 ‘SUPERFLUOUS’ ¥ @ g, 4R |

fourth, seventh and eleventh letters of the AR ANEd Rl W (@ wrie ye-wy
word ‘SUPERFLUOUS’. What is the T | SN W& BT UG e w7 87
first letter of that word? (A) U

(A) U - (BL

(B) L ()P

<€) P (D) R

(D) R

P-KS-1 25 SERIES-AF



Q80 Select the second, fifth, tenth and twelfth

Qs8I

letters of the word ‘METROPOLITAN'to
form meaningful word(s).

Ifonly one word can be formed, then select
the third letter of that word as the answer.
If more than one word can be formed, then
select M as the answer. If no such word
can be formed, then select X as the answer.
(A) O

(B) P

(C) M

D) X

Select the number that can replace the (?)
in the following series.

22,33, 66, 88, ?

(A) 84

(B) 97

(C) 115

(D) 165

P-KS-1

Q80 wref®

Q81

11370817

g9 @ fag
‘METROPOLITAN' ¥1&% & ¥R, Ufed,
Tud 3 ared SERT &1 T N |

afe Had UF TR T WPl 8, A S

Weq

@ WY A 9 & D AN IR B 994
o} | ol Uo | I v 99 wHa 8, A
IER D B9 F M B g | Al e B
IR T a1 WH 8, A IR D HIH X
a1 g |
(A) O
(B) P
(C) M
(D) X

faforfiaa siwen # (7) @t we wforenfia
B H@H qTell W& B TG BN

22, 33, 66, 88, ?

(A) 84

B) 97

(C) 115

(D) 165
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Q82 Selectthe numberthatcanreplacethe(?) Q82 fwifeiRaw sjwem % (7) & wre wRwenfi

in the following series. B W arel AT BT G99 Y|
2,20,74, 110, ? 2,20,74,110, ?

(A) 152 (A) 152

B) 182 B) 182

(C) 190 (C) 190

(D) 210 (D) 210

Q83 Select the number thatcan replace the (7) Q83 fAwifeRae sjen % (2) & wre nftvenfia

in the following series. BT HEH qTe WA BT v Y|
2,7, 14,23, 7, 47 2,7,14,23,7, 47

(A) 21 (A) 21

®) 38 . ® 38

() 34 ©© M

(D) 28 o ) 28

Q84 Selectthe letter-cluster that canreplacethe Q84 fr=ifeiRaa siwan % (7) & wRrenfia

(?) in the following series. B A ER-UYE BT T Y|
KPA,LQB,MRC,NSD,? KPA,LQB,MRC,NSD,?
(A) OTE (A) OTE

(B) PER (B) PER

(©) LTQ © LTQ

(D) MOL (D) MOL

P-KS-1 27 SERIES-AF



Q85 Four numbers have been given, out of

Q86

which three are alike in some manner and
one is different, Select the number that is
different from the rest.

720, 120,24,8,2, 1, |

(A) 24

(B) 8

(€) 2

(D) 120

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:

The National Skill Development
Committee conducted an assessment
among their trainers and found the

performance below mandatory level.

Conclusions:

I.  Thecommittee should immediately
organise remedial courses and training
to improve standards.

Il. Thecommittee should terminate poor
performers and hire new trainers.

(A) Only conclusion I follows.

(B) Only conclusion Il follows.

(C) Both conclusions I and 11 follow.

(D) Either conclusion | or Il follows.

P-KS-1

11010817
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Q85 TR w@d § 7 ¥, o A9 e

e ¥ U o & 3R ue = 81 9w
Lt er i aviieicol B C e i
720, 120,24, 8,2, 1, 1

(A) 24

(B) 8

(€) 2

(D) 120

faw v T ok Frepst @) o § 0@
AR g N P SH E W BE W
fspd afde w9 9 A9 @@ & /9]
g1

HYH:

U Bt s wiRfy s et
@ 4 US THe BT I far s
T yqeie @1 e wR 9 e 9

s

I affy @1 aFel A Wi @ fag
iy GuRTeTs rgas AR wiker
BT A AT AMRY |

1. affy & wvE yeeiE @A arl B
BT &1 ARy 3 Aq wikwwt &
g o ARy |

(A) daa Frepd [ 99 @ 2|

(B) dad frepd 11 et @ 81

(©) e 13 11 <Y 3 @ 8

(D) 1 o fased 1 11 3 @ gl
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Q87 Read the given paragraph carefully and

decide which of the conclusions given in
the options logically follows from the
paragraph.
Alarming level of pesticide and insecticide
residue is found in fruits and vegetables
sold in the market, causing public unrest.
The reason is farmers being forced to use
affordable chemical pesticides in large
amount to protect the harvest.
The pests, after sometime, get immune to
chemicals and hence farmers are forced
to use more harmful chemicals to
exterminate them. The government, is
however, planning to ban the use of some
harmful chemicals as they cause health
issue, thus breaking this vicious circle.

(A) Herbicides should be used by farmers
to prevent such health hazards and
portect the crop at same time.

(B) The farmers have been relying too
much on the chemiclas, long enough
for the pests to evolve and develop
resistance towards them.

(C) The goverment is going to ban all
chemical insecticides and pesticides
and their use in any form.

(D) The farmers are planning to protest

against the banning of chemical

pesticides.

P-KS-1

LL6G0SOLL
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Q87 fou wv yRede & aam 9§ g 3w ag o

% Raeat % & o wr fepd 99 gRee
H afhs w0 ¥ A @rar g
HISAND 3R SIS ATt HT GeTD
®WR qoMR A fAdA ael wel sl wfesar
H faar 8, s ot § ardaw @
HIE a1 & | e woe ) e
& forg &€ 7= 3 ww Wwiafe e
& SUAN A B forg worgR B # )
e, [P 99 415, JEEAT § AT B
wierféa (Rrmem) v o ¥ ek gafer
feurt o 9% T T @ fov afs
BIMER® THEAT ST IART B B farg
aeg BT TSl 8| BIifh, WHR 39
YR & TEEH B ared @ fov §p
EaRE w9@al & Sugly gy
wfrder @ @1 Ao 94 vE R aifs
.l
(A) 39 v o Wy Hadl waeRil @
AHA D o, wrRI—wer Hae 3 <
& @ forg framl & s &1
WA & AIfRY |
B) P & A W sl
3P & g & e o o A
dad Bl o1 Ao g &, fes
B YEEAl & uf gk e
M Rafia o o 8
(C) O¥&R i Y@ St v
Bt AR f&d N voR P T
IYART W yiEy o o v §
(D) frar ywEf e Peavel 3
uftde & fvg waew & @)
YT T X B
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Q88 Read the given statement and conclusions

carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:
A police officer receives a complaint that
an MP of his district is taking bribes in

order to facilitate some work.

Conclusions:

I.  The police officer should try to
investigate the matter and catch the
MP red-handed.

II. The police officer should wait for
some more complaints and then
catch the MP red-handed.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions I and II follow.

(D) Neither conclusion I nor II follows.

P-KS-1

21606011
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Q88 f2y Ty T AR f=pd & aE | U

AR g = & @9 @ =t s«
Y § WP B9 | A @rar & 97 @
&1

FY:
@ Yo e &1 Rema fed @
f& s R & (& wbe §p &M
wam & forg Reaa o w1 81

Forsand:

L yfers sty & A @ sitg S
- AR wiwe @ @ sl uesd @
e S AR |

1. g sl &1 gv ik Rl
H1 FAIR BT gifey AR v |iae
B O Bl g@e gy |

(A) daa fresd 1 #e @ 1

(B) daa fend 11 e @ran 21

(©) forsmd 13R 11 <M1 A @@ )

(D) = @t Fremd 15 11 %@ @ 21
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Q89 Read the given paragraph carefully and

answer the following question.
Soil erosion is a naturally occurring
process that affects all land forms, It refers
to the wearing away of a field’s topsoil by
natural physical forces of water and wind.
Topsoil, which is high in organic matter,
fertility and soil life, majorly contributes
to the growth of crops. Soil erosion
reduces cropland productivity and causes
the pollution of watercourses, weltlands
and lakes.

Which of the following options does NOT

show steps taken to prevent soil erosion?

(A) Use of proper drainage canals.

(B) Using of contour sloughing.

(C) Soil erosion is a result of mankind’s
unwise actions such as overgrazing
or unsuitable cultivating practices.

(D) Planting provides a protective cover
on land, and this allows most of the

rain water to soak into the groung

P-KS-1

LIGDEEL )
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Q89 Ry Ty IgmT F wFyds ud IR

Frafafea we &1 sar €
Y-ERY U WHIfdd 9 § B9 areh
yftear 2 it w0t 4 & wrel & wnfda
a8 | F8 U 3R s @ wpfe
W aell g/ UF &3 I I A B
der@ @1 g &1 W& Hud A, o
Frafe garl, Sdvar ok A @ o
& fov Sope et 8, waal & gfg #
I B @ ATEE Aol 8| -eRT ¥
PR-4A A IS B9 BN & AR
T STe-WaTE, A 3fie it i wgwor
B B
frafifea § & @19 w1 e J—emo
1 A1 & foy Sew U FEw @
feamar 82
(A) i Farh & fo wgfa st @
[GFT |
(B) WHreenw STE BT SUUNT |
(©) q-&vr 7g wifd @ agfua
sl H) ftarer ar sy A
quarft ggfomt @1 oRem 2
(D) FERT | 4 B 1T YRS
Rl fierr 8 ofR oIt warg @
TRy 8 B B, i wia 4 W
agan & o Y afwiy avioe
B AT v W ol &)
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Q90 Read the given paragraph carefully and

decide which of the conclusions given in
the options logivally follows from the
paragraph.
In a TV show, a famous nutritionist said
that among different items offered for
breakfast, muesli has more nutritional value
than regular cereals. He also said that
oatmeal is healtheir than bread. But a
recent commercial of a cereal company
says that cereals like cornflakes are richer
in nutrition than plain muesli. The
consumers are posting severe criticism on
social media and on the company website
about the misinformation in the
advertisement.

(A) The nutritionist has deliberately made
that comment to generate negative
sentiments against the cereal
company. .

(B) The nutritionist has high credibility
and people believe his/her words
against that of the famous cereal
company.

(C) The cereal company had done the
advertisement based on an outdated
research and the misinformation was
unintentional.

(D) Social media sites are increasingly

becoming popular among customers

as complaint portals.

P-KS-1

£160680|
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Q90 Ry W wRedy &1 & 9 92 IR 7Y

N & et § § o9 w Fed 39
uRese § Wfde w9 A da @ 2|
& M A s ufhg dwor Rg
@feafre) 3 T & T & fag 9
! o aren Ry yeR @ awgei
et ¥ W o A o § afw
oy g 2| SEA g8 N @e &
gforar IS & o # wreneds #
A= &1t €1 ¥ T =1 S & sy
BT BEAI & 6 Bvoad (HHg) T 3
R e B gerr F umor § g #)
g # & 1€ vera e B A
IvgEr weE Afsar ok woht @
ATHZE W HSI AT X T8 & |
(A) drvr fag 4 SIgsay 99 el
B I DI @ Race FHRIES
HEAT IO~ HA @ fog Arg B
g1
(B) wnvy fag aga € favawig € 3R
@R A B D g D] Bel
g Al O AR N B |
(C) 3= BUH A U R N D IWR
o fRsmes 5 o 3R g8 |
[ R-FRIET o |
(D) wrerer MfEar wgew wEDl 3 4=
Riera Wde & w0 ¥ aoll 9

g & W E|
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Q91

Q92

Q93

SECTION-3 | GENERAL KNOWLEDGE | 40 QUESTIONS

India ranks number in the list
of countries (and dependencies) by
population.

(A) one

(B) two

(C) three

(D) four

Which city of India ranked first in the
*Swachh Survekshan National Ranking’
20197

(A) Bhopal

(B) Jamshedpur

{C) Indore

(D) Khargone

The Goods and Services Tax (GST) was
introduced in India on 1st July,

(A) 2014

(B) 2016

(C) 2017

(D) 2018

P-KS-1

10531089

Q91

Q92

Q93

TEET @ AR g 29 (@i ki)
YN ARTINDG B
(A) &

(B) @

(©) @

(D) IR

HRA @ 5 w8 4 W waewr A
Hr 2019 % gEen WIH wrw faEar?
(A) ure

(B) SRR

(€) &R

(D) WX+

a%] U9 a1 FR (GST) #a # 1 grE,

&1 U faar ar on)
(A) 2014
(B) 2016
(C) 2017
(D) 2018
SERIES-AF




Q94 The special power of the Rajya Sabha to

Q95

empower the Parliament to make laws in
respect of any matter enumerated in the
State List by adopting a resolution to this
effect is given in Article ofthe
constitution,

(A) 128

(B) 198

(C) 223

(D) 249

Department-related Standing Committees
were set up in to scrutinise the
functioning of the various Ministries/
Departments of the Union Government
assigned to them in order to further
strengthen the accountability of the
Government to Parliament.

(A) 1991

(B) 1993

(C) 1999

(D) 2000

P-KS-1

11651089
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Q94 W=y w1 A ey wfda s amem @

Q95

IKIE JueTer W™ @ sy
. iRwmw R P g Ty
T H e & N e @ ey
BT T & forg |He @) weEa &
S |

(A) 128

(B) 198

(C) 223

(D) 249

&% WaR @ A= warerl / v @
FM B Gig & B fog B § wa
GRS IR EISE RO ) S|
B g oft W wwe B 9y WER A
SaEs! I AR Aoy fHar o w3 |

(A) 1991

(B) 1993

(C) 1999

(D) 2000

SERIES-AF




Q96 How many states with Fifth Schedule : Q96 digd g &l (fhwer Rrege wRa)

Q97

Q98

Areas are covered under the Provisions

of the Panchayats (Extension to the
Scheduled Areas) Act, 19967

(A) 7

(B) 9

(C) 10

D) 13

Under the provisions of Article

a joint sitting of the Lok Sabha and the
Rajya Sabha can be called by the
President.

(A) 93

(B) 105

(C) 108

(D) 116

In the event of a tie while voting in the
Lok Sabha, the has the casting
vote.

(A) Prime Minister

(B) Speaker

(C) President

(D) Vice President

P-KS-1

Q97

Q98

g feas woa, darel (e &
% fawga) & Wl sfefaw, 1996 &
e A 87

(A) 7

(B) 9

(©) 10

(D) 13

JTWT D WAl B e cmad
IR IogET @ HgaT 45F B Ul
SART AT ST T & |

(A) 93

(B) 105

(C) 108

(D) 116

ST 3 FRT B WA TR a1 Refy
¥ B U de Sio & AfeR
BT 81

(A) e HA

(B) ®aw

(C) wrszafey

(D) SwIEUA
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Q99 Which state in India has a city nearest to

the Tropic of Cancer in India?
(A) Mizoram

(B) Madhya Pradesh

(C) Tripura

(D) Chhattisgarh

Q100 Identify the neighbouring nation with which

India shares the longest boundary.
(A) Nepal

(B) China

(C) Myanmar

(D) Bangladesh

Q101 The Indian peninsular extends in to the

(A) Arabian Sea
(B) Indian Ocean
(C) Himalayas

(D) Bayof Bengal

Q102 Which of the following is the world’s largest

gorge?

(A) Copper Canyon
(B) Colca Canyon

(C) Fish River Canyon

(D) The Grand Canyon

P-KS-1
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10691089

Q99 ¥RA & frw wow # WRA ¥ TP @

Gifte 3ife dwR) @ Afy gigwr a2
e 27

(A) fAuis

(B) 5 gaw

(C) frgar
(D) BITETE

Q100 9 YK I B UBHE BY ordd 9y

HIRG 3791 S eid) 7 ars var & |
(A) AUt

(B) 99

(C) =HR

(D) ajreraer

QI0] ¥Rl URIgdd _ d@ hal g3

g1

(A) 34 AR
(B) fg #ermrR
(C) fewrem

(D) FTTe Bt @

Q102 fy=faRaa # & gfvar o wewy @ wrdh

a1 9t 87

(A) PR HIF
(B) Pichl g+
(C) e fav P=

(D) f& i=s ==
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Q103 Which of the following is the world’s
largest river island?
(A) Divarlsland - Goa
, (B) Quibble Island - Tamil Nadu
(C) Munroe Island - Kerala
(D) Majuli-Assam

Q104 thecalligrapher of the Taj Mahal,
built and completed it in 1648 A.D.
(A) Gyasuddin
(B) Al-Bukhaari
(C) Amanat Khan Shirazi
(D) Muhammad Abduh

Q105 The freedom fighters Bhagat Singh,
Sukhdev and Rajguru were hanged to
death in
(A) 1929
(B) 1931
(C) 1934
(D) 1939

Q106 In , the British Government

announced certain reforms in the structure

of the Government in India, which were
known as the Morley-Minto Reforms.

(A) 1903

(B) 1909

(C) 1912

(D) 1939

P-KS-1
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Q103 PreiferRaa # & &=, gfen @1 wad ae
T8l 27
(A) fRar gdg — war
(B) Tae gd — dfaTg
(€) F gdT — B
(D) ANl — A

Q104 TIoHES @ Yordd (Pferamey)
A, 1648 $ud) 3 guDH T B R
faar)

(A) T

(B) dci—q@n

(C) emFa @ R
(D) HEHTE I8

Q105 wga=ar WAl wd e, g@ed SR

AE DI
o 41 g oty

H i @

(A) 1929
(B) 1931
(C) 1934
(D) 1939

¥, fafewr wweR A WRa
RPN P GYal § §O YR DI HIE
&, R A gurR & ®9 § W
IV 7|

Q106

(A) 1903
(B) 1909
(C) 1912
(D) 1939
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Q107 Udyog Bandhu is an IS/ISO 9001:2008

certified ____ tier body of the
Government of Uttar Pradesh for the
purpose of setting up of businesses in the
state and covers all industrial approvals,
(A) one
(B) two
(C) three

(D) four

Q108 Uttar Pradesh ranks in terms of

software exports from India.
(A) first

(B) second

(C) third

(D) fourth

Q109 Uttar Pradesh ranked in terms of

domestic tourists visiting the state in the
year 2018,

(A) first

(B) second

(C) third

(D) fourth

P-KS-1
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Q107 o8 % =aw wnfie 9 & Sevy 9

I 9Y, TR YU WAR BT 1S/1SO
9001:2008 waIfdre wia
e @ sl 78 Wit sitgaifie sl
&I wHIfed Hvar & |

(A) T

(B) &7

(C) @™

(D) TR

Q108 Wkt ¥ wived frafer @) 3fe W war

Wo¥ W W B
(A) Tt
®) T
(C) e
(D) @&

Q109 af 2018 ¥ 51 &1 N7 A AT W

qded B A § Sww waw
I W |
(A) W
(B) g
(C) T
(D) ey
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Q110 The city of in the state of Uttar

Qlll

Pradesh is famous for brassware
manufacturing.

(A) Saharanpur

(B) Moradabad

(C) Agra

(D) Lucknow

In which year was the Banaras Hindu
University established?

(A) 1902

(B) 1910

(C) 1916

(D) 1921

Q112 Which of the following was the most

literate district of Uttar Pradesh as per the
Census of 20117

(A) Ghaziabad

(B) Kanpur Nagar

(C) Lucknow

(D) Jaunpur

P-KS-1
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Q110 SER W I H e G @

QIll

T iR swfiiey @ o ufig 81
(A) WERAR

(B) HUEE
(C) 3TRT

(D) &S

Ty g fafigqarey few ad wnfia
forar ar ar?

(A) 1902

(B) 1910

(C) 1916

(D) 1921

Q112 2011 @ GFFIVFT & IFUR, Ia} Fa¥

F1 Gai® R S PrF—a1 o1?
(A) miramETE

(B) ®MEYR IR
(C) T @ %

(D) WFgR
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Q113 Which district in Uttar Pradesh had the

highest per capita GDP for the year 2018?
(A) Meerut

(B) Lucknow

(C) Gautam Budha Nagar

(D) Prayagraj (Allahabad)

Q114 Which of the following is the national flower

of Uttar Pradesh?
(A) Brahma Kamal
(B) Kandhal

(C) Rhododendrons
(D) Palash

Q115 Pradhan Mantri Kisan Samman Nidhi

(PM-KISAN) was launched in the year
2019from _____ in Uttar Pradesh.
(A) Lucknow

(B) Gorakhpur

(C) Prayagraj (Allahabad)

(D) Varanasi

P-KS-1
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Ql13

Qll14

Q115

IR uew @ few R F af 2018 @
forg ufty aafm woa e Same (i)
4 e ar?

(A) W

(B) d@TH

(C) 7w dg

(D) FITRIS (§ATETATS)

IR W& BT Ywraa g Prefafed
H B 87

(A) 7Eq P9

B) wfererdt (@ffwan)

(C) VSIgH

(D) e

a4 2019 % IR wow #, wur w9 e
A [ (PM-KISAN) &1 9
g% v T o

(A) TGS

(B) TREgR

(C) AR (§T8TaTs)

(D) aroTER
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Q116 ‘Dum Pukht’ is a popular process of
in Uttar Pradesh.

(A) preparing food

(B) stitchingcloth

10186

(C) sowing seeds

(D) carving wood

Q117 Which of the following is the ceremonial
tradition of laying the food items during
meals?

(A) Zardozi

(B) Chikankari
(C) Dastarkhwan
(D) Kharija

Q118 Which city in Uttar Pradesh is called the
‘ceramic city’?
(A) Lucknow
(B) Moradabad
(C) Prayagraj (Allahabad)
(D) Khurja

Q119 ,asmalltown in Uttar Pradesh,
is known for its decorative red clay
pottery.

(A) Bareilly
(B) Meerut
(C) Chunar

(D) Firozabad

P-KS-1 41

Q116 A Y&’ Ik Wa¥l H CIR]

drsia ufhar ¥

(A) &5 yBE B AR
(B) @ugr g

(©) &1 a=

(D) THEl TR T

Q117 M & W94 Wigy YRl B G B

aMraRe wowr Freafefaa § ) @9 87
(A) wvETol

(B) RFTer

(€) TRREH

(D) o

Q118 Swr U2y @ f&u e o ‘e R

HET I 87
(A) TETH
(B) VETETR
(C) WATRIS (IT6Ta1s)

(D) Qi

Q119 IR WY & (d BIEHI TR,

Juh e Pl @ wemad) adat @ farg
ST T 8

(A) Tl

(B) W3

(C) gR
(D) e
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Q120 What is the other name of ‘Lucknow Q120 7 3R wfg & v e | wafda

Gharana’ - a style of dance and music? TS URET B A AW w87
(A) Uttar Gharana (A) I gv=Tn
(B) Nritya Gharana (B) T ERTI
(C) YogyaGharana (C) Irg =R
(D) Purab Gharana (D) 4 8=
Q121 India ranked _____ in coffee Q121 T 2017-2018 ¥ P Seres § WRa
production in the year 2017-2018. WIF IR &7
(A) second (A) T
(®) fifth (B) df=d
(C) seventh (C) wrd
(D) ninth () 3

&
h

Q122 Which country among the followingisthe Q122 f=ferRaa # & @ w1 2w wrdw =

largest importer of Indian tea? BT WA T JARTD 27
(A) USA (A) JUHY (USA)

(B) Russia (B) wH

(C) France (C) wiw

(D) Germany (D)
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Q123 The first jute mill was established at Rishra,

on the river Hooghly near Kolkata in the

year

(A) 1847
(B) 1855
(C) 1889
(D) 1900

Q124 Which of the following is regarded as

Asia’s largest spice market?

(A) Khari baoli - New Delhi

(B) Bapu bazaar - Jaipur

(C) Lal darwaja market - Ahmedabad
(D) Koyambedu market - Chennai

Q125 Which of the following companies is the

title sponsor fdr India’s cricket team?
(A) Sahara

(B) Vodoafone

(C) Reliance

(D) Paytm

Q126 In which of the following countries was

the ‘World Police and Fire Games’ 2019
held?

(A) Russia

(B) China

(C) Denmark

(D) Israel
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Q123 ad # PrAdET S 9 gAA

T4 W, Rwer # vgeh g e ¥ wnfia
P g o
(A) 1847
(B) 1855
(C) 1889
(D) 1900

Q124 of¥rr & wad 9@ wareT aoR Fefafa

# 9 59 s wmar 87

(A) @t amael — 7% fieh

(B) WY AR ~ FAYR

(C) &Tel TYaTall HIdHe — ABAGTATR

(D) BHAg AHE — A~TE

Q125 frfeiRaa # & -0 B ARa B

frde 8w @ fog anReRe e 87
(A) &R
(B) ArETHIA
(C) Ramgw
(D) ¥

Q126 ‘IS yfers U8 BIaR ' 2019 Feforfe

# 9 frw <w A s fear T o
(A) w9
(B) 9
(C) TS
(D) FoREH
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Q127 Which of the following movies won the

66th National Award in 2019?
(A) Hellaro

(B) Uri: The surgical strike
(C) Andhadhun

(D) Sarala Virala

Q128 When was the autumn equinox 2019?
(A) 23rd September
(B) 29th September
(C) 16th October

(D) 26th October

Q129 Who among the following has been

awarded the Vir Chakra in 20197
(A) Col. Lalit Rai

(B) Havildar Chuni Lal

(C) Wg.Cdr. Abhinandan Varthaman

(D) Lt. Col. Yogesh Kumar Joshi

Q130 India ranks in the Global Innovation

Index 2019,
(A) 47th
(B) 52nd
(C) 5%9th

(D) 63rd
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Q127 F=foifaa # & fhw e 51 2019 #

6681 WS YREBR A1
(A) feam

(B) 3% & wifova wEs
(C) ey

(D) el fave

Q128 W< faga (-7 awm@m) 2019 #

@
(A) 23 fhear
(B) 29 faaax
(C) 16 Jaear
(D) 26 3aTE”

Q129 2019 ¥, fy=ifeifaa # 4§ f6d AR @ &

gt fasar mar 87

(A) T dfera Iy

(B) saciar gl et

(C) far Fwiey aifiwigs aewH
(D) wiffesie Hia AT FAR G

Q130 *&lae A ea9 2019 ¥ 9Ra

®IH W 8|
(A) 474
(B) 52d
(C) 594
(D) 63d
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Read the following Instructions carefully :

Frfafaa Aidat &) am 4@ v -

one circle for the correct answer is (o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
clse except in the specified space in the Answer Sheet,

as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

Series as given in the Test Booklet in the Attendance
Sheet.

Card to the Invigilator

Superintendent or Invigilator, should leave his / her
scat.

without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

prohibited

Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission,

Answer Sheet to invigilator. Invigilator will hand over
the Candidate's copy to candidate, then only
candidate is allowed 10 leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet,

them. They have to submit the Test Booklet to the
Invigilstor after the exam.

L. Out of the four alternatives for cach question, only | 1

)

to be changed N

!

. W4F y @ far Ry 1 ar R 4
Hel IR @ fow 3 U AR I T w
HAA (@ M B € T WE Pt ar ige
U ¥ W P IR IR 3AfBa e oF B
418 9N 4gal T8l T Yaar &

el ghftaa oY A S o= @ A
- N U4 S WR g 3 Fee 5 oa@d |
erefl yu IqFAE IR vIe A
Feifa wm & siffRar sras =1 ford

3. Handie the Test Booklet and Answer Sheet with care, | 3, Wian gftasr vd @R o=@ @ ZIERGED

war &, w®ife 5 N RRefy § @aa
wen gt d T B Bre @) e o
qRE®T [ SR UAS Suqal A6 S
QT |

4. The candidates will write the correct Test Booklet | 4. wtair gt 3 € =t udanr yftaasr W

& el W@ afiP ¥ SulRefy vae A
ford |

5. Each candidate must show on demand his / her Admit 5, q\ﬁ W W UF Uﬁ!ﬂ?ﬂ TE INET D]

YT WA g R

6. No candidate, without special permission of the Center 6. FNEEH AT T ITNED B favy Wﬁ B

fasr &Y uanedt argar W 9 912

7. The candidates should not leave the Examination Hall | 7, river @8 Jw1der® & 39T I6% U595 fav

i wdemelt s wm Ad e afy
e ademedt 3 SoReafy vae W swmR 8
fg o a8 wrr Sem @ SE 9 uEe
T8 olteran 8 3R 7 argft s &1 A
HIET QT |

8. Use of Pencil/Electronic/Manual Calculator is | 8. 9ad / goiagitg / gwcraifery uReds &

IygnT aftta &)

9. The candidates are governed by all Rules and | 9. U9&T €1 A arawor & R el sy 3

Wil Prat R gy Frafiv 3 | sefee
el & Wl yaweil 1 dudr aan @
el g fafvast @ arar g

10. After Examination is over, candidate has to return his | 10. U9 & IUict 3nelt IoR U3 &8 araders

@ et & smdEs g1 anadl @) 9w
= 3 pudi wfty /gt ufy wvma v
Sg e s Suvi #) a1 @) vred #
Y 4 onget | See gEe A sl ufy
arell @l 39 W o S @ gl 2

11. Candidates are not allowed to take Test Bookletwith | 11. Y& @ Iuzia qdameff &) vden yRas

a8 Fdes 3! dterh el | vfter gRaer
@l gl sos wr ol @ on wed )
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